GEA MESSO PT PARTS LIST Document No.: 614.112.130.0
De Beverspijken 7b Crystallizer stage 2 Order No.: 272.2.614
5201 AG 's-Hertogenbosch LUKE Corresponding Drawing: 614.112.120.0
ITEM QTY |DESCRIPTION MATERIAL DIMENSIONS/TYPE REMARKS

1 1 Agitator - - Assembled

2 3 Baffle A2 - -

3 1 Dome AISI 304L - -

4 3 Bolt hexagon A2 M24 x 60 DIN933

5 3 Washer A2 M24 x 60 DIN125

6 3 Lifting eye bracket Steel Diamater 32 mm -

7 44 |Studbolt B8 CI.2 3/4" -10 UNC L=7" -

8 88 Nut B8 H=D 3/4"-10 UNC -

9 88 Washer A2 5/8" -

10 24 [Studbolt B8 CI.1 5/8"-11 UNC L=4.3/4" 120 mm length

11 24 Nut B8 H=D 5/8"-11 UNC -

12 24 [Washer A2 5/8" -

13 1 Intermediate flange AISI 304L 483/308 x 36 -

14 1 Metal fused sight glas 14.462|type 901 NW150

15 1 O-ring Girth flanges EPDM ID 2020.00 x 10.00 -

16 2 Positioning pin Girth Flange  |AISI 304L Diameter 20 mm -

17 6 Hexagon set screw A2 M10 x 60 DIN561

18 3 O-ring baffles EPDM ID 151.77 x 5.33 / No. 361 -

19 1 O-ring Manhole flange EPDM ID 932.00 x 7.00 -

20 8 Studbolt B8 CI.2 3/4" -10 UNC L=3.1/4" -

21 8 Nut B8 H=D 3/4"-10 UNC -

22 8 Washer A2 3/4" -

23 1 O-ring Metaglas EPDM ID 164.47 x 5.33 / No. 363 -

24 2 O-ring Agitator EPDM ID 354.97 x 7.00 / No. 457 AS 568A

25 24 Studbolt AISI 304 - A193 B8 CI.2 7/8 UNC 6" -

26 24 [Washer A2 7/8" DIN125

27 24 Nut B8 H=D 7/8"-9 UNC -

28 1 Ring AISI304L 285/125 x 30 Part of metaglas

29 1 Gasket PTFE 1,5 mm Diameter: 202/125 -

30 1 Disc AISI304L 160 x 12 -

614.112.130 Codelist Assembly Crystallizer stage 2.xls

Page 1 of 1

21-10-2013



